A B g9 - B0

A HBHFH_| AR 2 7F
1 AT FRSE 2 g AT ? (20%)
2. MBS E R Y AR A A T B - (10%)
3. MEAUTFTEHZ () Pas Q)F58 Q)¢ EH Y (10%)

42, 38, 70, 90, 34

4. % ENE o TR (10%)
X 0 1 2 3
f(X) 0.2 0.1 0.4 A

AKX (DA @)P(1=x=3) G2 P O)RMEM)

5. 2 A-BAadmiEEEH B PA)=0.5P[B)=0.6 » PLANB)=0.3 > X

¥ (DP(AUB) (2)PBIA) G)FHA-BEATFH/EL (15%)

6. H—AMREZR A XERTFTHBEBRE > AMESE LT
(15%)

X

0

1

f(X)

1/8 ~

3/8

3/8

1/8

AKX (DEX) @VX) (3EHEX)

(3%

E(-)E8THE V(AR ER
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DR A A S A i : BOT

L A KHEME Y HE YA

7. ATHRERESEEEHEE &7 -AHETR  BRRIHES

WRBSH 0 FUT ANOVA & ° (20%)
% R RIA SS A M FH MS F &

1& #% 546 B C -

@ ¥ A 6 D

4 4 686 8

(D ##HHEA-B-C-Df

(2)4E 88 % A 0.05 F B8 R Frogoos=5.14 » AR 25 #
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